= A
H = 0 &8 AFS & Al A
Q022 T = 3 3| AV TAID
SM: SAID
M CADHL(IELXANL/NALEAI)
ool SAIESEY (Erel:E)
2N - F2 - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hns2
CAID 16,695,273 16,515,488 179,785
= 2,385,000 2,385,000 0
[ 1,195,000 1,195,000 0
= 350,000 350,000 0
Al 12,765,273 12,585,488 179,785
CAHS (2ELXHNL/ XS Al) 16,003,080 16,102,618 199,538
= 2,385,000 2,385,000 0
[= 1,195,000 1,195,000 0
S 350,000 350,000 0
Al 12,073,080 12,172,618 A99,538
SAIHE SR 394,955 465,723 NA70,768
CAIHE 22 321,042 359,900 A\38,858
201 LEH2 A 49,500 62,400 212,900
01 At22eIH] 14,850 25,900 A11,050
O AIHCIHE (O FOIAFSF AME 212
(SSH A2 338 0& 0 9,000 29,000
OZAHE A3 (A=) 10,250 12,300 22,050
— &N LE(D|2) 23X 5,600,000 5,600 6,720 A1,120
—ESL(ZDR) ZF 2,400,000 2,400 2,880 2480
—EZA 01| 23X 2,250,000 2,250 2,700 450
02 2229 34,650 36,500 21,850
OZAMAEBHAHI(UPIS) FAI2=(THEH A2
Z3A 13,050,000 13,050 14,500 21,450
OZAHEZHEMAH DB SKE4=(LIsHAH A2
ZA 21,600,000 21,600 22,000 2400
203 LR | 12,150 13,500 A1,350
03 AIZH=RIUR=KIY| 12,150 13,500 A 1,350
OFQAIE BOtAIY FT(0AFEZ)
23X 1,800,000 1,800 2,000 A200
OIENLHE A2 X (A=Y
23 1,800,000 1,800 2,000 A200
OXIGIHEAIS =EI(OIAEZ)
ZA 1,800,000 1,800 2,000 A200
OZAIHEAIS =EI(0IAHEZY)
ZH 900,000 00 1,000 A100
OZAITHA AMFAIY 22 S HLRFE(0AHE)
23X 1,350,000 1,350 1,500 A150
OF 22N A2 FA(0f =)
2 900,000 900 1,000 A100
OBl 2 242 FF(0larEY)
ZA 900,000 00 1,000 A100
Oota2te| e =X (HAEZ)
23X 900,000 00 1,000 A100
OARXE L2 FH(GIAEZ)
Z3A 900,000 900 1,000 A100




SM ZAID
3 CADHE(RELRGNL /X ELEA)

Sl ZAESY (Erel:E)
2N - F2 - H2A(ZH) - HI2AY - HES 04| AroH J| &M Hlns2
OEX &2 & 22| 22 =R (HAEZ)
ZA 900,000 00 1,000 2100
401 AlSHIL 2 0HY] 259,392 284,000 24,608
01 Al&H] 259,392 284,000 24,608
OSZZR|HE B SH(THEH A2
ZA 175,592,000 175,592 200,000 N24,408
OZAMHEEZ 2HE (TSI A2
23 39,800,000 39,800 40,000 A200
SAIHE S22 73,913 105,823 231,910
401 AlEHIZ 200 41,090 73,000 231,910
01 Al&dH] 41,090 73,000 231,910
ORH0IS2 e ETPAS Slol2E EX0HY
(LIS EoH AF2E) A 41,090,000 41,090 73,000 231,910
SAD|IEES 8,578,928 8,591,288 A12,360
[ 240,000 240,000 0
= 350,000 350,000 0
Al 7,988,928 8,001,288 A 12,360
CABRXS 500 7,500 A7,000
201 LBt HH| 500 7,500 A7,000
01 At22telH 500 7,500 A7,000
OQ3|(F2, 22X, 220X 39
A (TR M) 500 7,500 AT7,000
—3|o| &L A 250,000 250 5,250 5,000
— AR ELE A 250,000 250 2,250 22,000
CAFZEA 222 106,428 111,788 15,360
101 Q124H] 7,110 8,208 21,008
04 JIZtNI22RER 7,110 8,208 1,008
OYz=E 240 2 23519 el S=EEH| oIy
(DI EIOH AFRY) ZH 7,110,000 7,110 8,208 21,008
201 LEH2YH] 51,318 55,580 N4, 262
01 At22t2IH] 23,958 28,220 N4, 262
OY9FE 2400 L 2519 Hel Z2l(oarE)
22,808 27,070 N4, 262
—A E A ES 22X 22,138,000 22,138 26,400 N4, 262
CIXtoI 22 1,535,401 1,546,201 210,800
[~ 583,000 583,000 0
Al 952,401 963,201 210,800
CIXteI2e| 86,551 97,351 210,800
201 LBt | 14,500 24,300 19,800
01 AtR2t2IH] 3,200 7,200 24,000
O2Z2LIX(H=) QIIEEI} 3o & £ 2,600 6,600 24,000
—3|oEA LS (0lAEZ) FE 2,000,000 2,000 3,080 1,080




SPAM: EAID

ZH: CAN(FELXI N/ N ALTAI)

el CIxeIze) (Er9): &)
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
—ANEEEXS(FBTY A)
23 300,009 300 1,320 A1,020
—DSHI(ZBEN A A7 200,002 200 1,320 A1,120
— A (FB T A1) 2% 100,002 100 880 AT80
02 ZZ2YH| 11,300 12,100 2800
OBBRE(FI),45)(FBTA A2 1,300 12,100 £800
—HUAIE SABS D123
A3 2,100,008 2,100 2,400 £300
—2=2 BAR UMY B223
A3 2,100,002 2,100 2,400 £300
—ZREUE BBRI(JI|, &, S4)
A 4,600,009 4,600 4,800 2200
03 BAL2 L] 0 5,000 5,000
OB2UK T JHE (2B AR
233 02 0 5,000 £5,000
01 YU EFIZ 52,051 53,051 A1,000
12 JIEI2aE 52,051 53,051 A1,000
OZAIIEBRIE S SSHTBTY AY)
AT 22,064,009 22,064 22,314 2250
OSAIASR2IS DTASIL 2S(THTH A
A 26,527,002 26,527 26,777 £250
OZAIRIEBRIE +SHFHTY A1) 3,460 3,960 A500
—DEHI(SAASRRIST
AT 1,550,009 1,550 1,800 2250
—DEH(BZASIH) A3 1,910,002 1,910 2,160 2250
(S)2=2 HAIIX LAY 1,248,850 1,248,850 0
= 583,000 583,000 0
Al 665,850 665,850 0
401 AlEBILSCHY| 1,168,850 1,248,850 80,000
= 543,000 583,000 240,000
Al 625,850 665,850 £40,000
01 AIZE] 1,168,850 1,248,850 80,000
OBEZ FAIX SAAY(BSTT: Y
223SH'2) A3 1,086,000,000%! 1,086,000 1,166,000 280,000
= 543,000 583,000 240,000
Al 543,000 583,000 240,000
405 TS 80,000 0 80,000
= 40,000 0 40,000
Al 40,000 0 40,000
01 RIS EF S| 80,000 0 80,000
OB=E HAIIX SAA(BSBH:"AILHI"0IA)
80,000,002 * 14! 80,000 0 80,000
= 40,000 0 40,000
Al 40,000 0 40,000
SAITHA 5,493,796 5,499,406 5,610
2 2,385,000 2,385,000 0




S A

S Al

BE: CANS(RELXANL/KALETAI
Chel: TAITHAY (el g
SA - ZH . SR (EH) - HRAY - BES Ofl koY )= s
= 372,000 372,000 0
Al 2,736,796 2,742,406 25,610
T AITHAY 486,389 461,999 75,610
201 Yer2y| 83,547 87,282 73,735
01 At22teld| 48,611 52,346 A3,735
OSAITHY FEAR (Tl B XSME
ARE( A=) AT 6,696,000 6.6%6 7,200 A504
OSAIMMRIRAE SYOIE, B2 (H4ED)
4,224 4,616 A3
—=AEX 271,360, 0002 1,360 1,53 INTE
—ARD LY 2,418 2,600 A182
=ADI €Y A7 930,009 930 1,000 ATO
- mRIE £l A 930,0008 930 1,000 ATO
- JIEF 21| AT 58,0002 558 600 A2
—JIEH AR 22| AT 46,0009 446 480 ~34
OSAIHMAIS DI RIZI(014E2)
A 9,300,0002 9,300 10,000 ATO0
OSAITMESE=(2) OIS NSBDE
(oIar=2) AT 7,440,009 7,440 8,000 AB60
OSATHASIE U ArRETIECIE 22 (04t
=) 17,408 18,720 A1,312
— 3o A AE(0]2 AT 9,374,002 9,374 10,080 AT06
— 3O FHAEH(EDH) A 4,017,002 4,017 4,320 £303
— 3|9 &H 0l A 4,017,002 4,017 4,320 £303
OBSI YHVFOIZ, HshSB(0AE) 2,362 2,540 A178
— &t A 465,002 465 500 ~35
— AR A 58,0009 558 600 A2
—JIEF A2l A 1,339,0008 1,339 1,440 A101
OSATHATHES DS SHHI (A=) 1,181 1,270 £89
—si4o! A 232,009 230 250 A8
— DA A 279,002 279 300 A2
—JIEF AR RI2IH| A 670,002 670 720 A50
301 Y2 FSZ 242,340 244,215 21,875
CEICSEIER 1,875 3,750 A1,875
OSAITHASIOl EATE AA RIZ(RSFH A2t
AT 525,000 525 1,050 A525
OSAIHMFSIL S HTIK| ASHTBTY A1)
A 1,350,0002 1,350 2,700 A1,350
SHBR|(IELXINL/ KAL) 58,448 67,080 18,632
2leaz 2l 58,448 67,080 8,632
caz2yme 58,448 67,080 28,632
201 Yer2 Y| 42,448 43,080 2632
01 AF= 22l 6,088 6,720 A6
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SH: SAI
Hal: ZDS RI(BELXANL/XALEAI
ool S9DS I (Er9): &)
S - B - S9(3H) - HRAY - BES il ko pE-L AimE=T
O BRSO AR N2 (289 A1)
233 0 0 800 2800
401 AlBILSCHY| 40,200 41,100 2900
01 A&t 40,200 41,100 2900
SR EUTAIL ST (RBEY A
A3 3,100,008 3,100 4,000 £900
SHA2HAYI(SAID) (DIEHJIEH 193,115 214,455 A21,340
ol o] 88,949 90,449 A1,500
olzi2 o] 88,949 90,449 A1,500
101 2121 87,321 88,821 A1,500
03 ZRH (SIS 22X 2% 42,807 44,307 A1,500
OSHTT2IA(YHTY A1) 42,807 44,307 A1,500
—A2tel g A 4,226,009 4,226 4,726 A500
—goaesg A 576,002 576 1,576 21,000
IEET 104,166 124,006 A19,840
o= 104,166 124,006 A19,840
201 Yer2| 25,151 27,946 £2,7%
01 AF= 22l 25, 151 27,946 £2,7%
OS23AI(014E) A 7,789,002 7,789 10,584 £2,7%
202 o1t 67,000 83,160 A16,160
01 =LHoIB 67,000 83,160 A6, 160
OBHHOIHI (0l A=) A 50,000,009 50,000 60,480 A10,480
OB2I01HI (0 A=) A3 17,000,002 17,000 22,680 5,680
203 REXIL| 6,750 7,500 AT50
B SEEST 2,970 3,300 £330
OSAAERT JIBASYAREF| (K AE)
A3 2,970,002 2,970 3,300 £330
EVESEES L] 3,780 4,200 £420
NSRRI (HAE)
A 3,780,009 3,780 4,200 2420
204 HR4AY| 5,265 5,400 A135
EEESEEEET] 5,265 5,400 A135
ONMIYQLHAY|(WHTY A1) 5,265 5,400 A135
—SAASRT A 4,065,009 4,065 4,200 A135
HRES(SAID) (FELXIHL/ KLU AI) 314,344 782 313,562
SHNE 314,344 782 313,562
BRI 314,344 782 313,562
802 B2 Ef 314,344 782 313,562
01 2nExE2uES 313,562 0 313,562




2 SAlD
Fa: WRES(TAD)(BELTIGHL/UHLEAI)
ool RIS (&2 ML)
2N - F2 - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hns2
020208 & 13,106 13,106
—Qlaolgh 2018 HA=22L ZAAIY
12,503,000 * 14! 12,503 12,503
—QIAOIGH ZI|8 HAZ2Y ZHALZ(0IXH
602,170 * 14l 603 603
O0179 & 6,969 6,969
—HEAZE SIAIB2 ZAAY
2,581,880 * 1Al 2,582 2,582
—HEAE SIAFB2 ZAAFE(0IX)
4,386,330 * 14l 4,387 4,387
020169 & 293,487 293,487
—ZHAF2 MSSOFS A 268,863,530 * 14 268,864 268,864
—ZAFE MESSOF2 AR (OIRE)
19,126,210 * 14l 19,127 19,127
— AN ST OIS T AL (0IXH)
5,495,580 * 1Al 5,49 5,496




